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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2 / HALF YEARLY EXAMINATION  

SESSION: 2022-2023 

   Class: VII                                                                      Maximum Marks: 80 

   Subject:Bengali                                                            Time: 3 Hours  

              নির্দেনিকা:  ক) এই প্রশ্নপর্ে ম াট ৪ নট নিভাগ আর্ে ও ম াট ১২ নট প্রশ্ন আর্ে।  

                       খ)  এই প্রশ্নপর্ে ম াট ৫ নট পৃষ্ঠা আর্ে। 

নিভাগ-ক (মিাধপরীক্ষণ) 

1. 

 

 

A. প্রদত্ত অনুচ্ছেদটি পচ্ছ়ে সংটিষ্ট প্রশ্নগুটির উত্তর লিচ্ছ ো: 
এ িের ভারর্ের স্বাধীিোর ৭৫ িের্রর পূনেে। ইংর্রজ িাসর্ির িাগপাি মের্ক  ুক্ত হওয়ার 

ডায় ন্ড জুনিনি। উদ্‌যাপর্ির মোড়র্জাড় শুরু হর্য় নগর্য়র্ে অর্িক আর্গই। নিক োর আর্গ 

িান েংহযা  ক িওর্য়িে মগ র্স ভারেীয় অযােনিটর্দর সাফিয মযি মসই উদ্‌যাপর্ি আরও 

এক  ুর্িা রং েনড়র্য়র্ে। ক িওর্য়িে মগ স ২০২২ এই  ানি ইর্ভন্ট প্রনের্যানগোর জন্ম 

নদর্য়র্ে ইংর্রজরাই। এক স য় নিনটি িানসে মদিগুনির্ক নির্য় প্রনে চার িের অন্তর 

আর্য়ানজে হে ক িওর্য়িে মগ স। স্বাধীিোর ৭৫ িের পূনেের আর্গ মসই ইংর্রজর্দর 

মদি মের্কই এি ঝুনি ভনেে পদক। মসািা, রুর্পার েড়ােনড়। ইংর্রজ অযােনিটর্দর উপর 

েনড় ঘুনরর্য় একানধক পদক নজের্িি মদর্ির অযােনিটরা। ম াট ৬১নট পদক নির্য় মদর্ি 

নফরর্ে চর্ির্েি নপনভ নসনু্ধ-িরেক িরা। একানধক ইর্ভর্ন্ট পদক নজর্ে এ িার্রর 

ক িওর্য়িে-এ ইনেহাস গর্ড়র্ে ভারে। িান েংহযা  ক িওর্য়িে মগ র্স ভারেীয় 

অযােনিটরা মপর্য়র্েি মসািা– ২২নট, রুর্পা – ১৬নট, মিাঞ্জ – ২৩নট। স্বাধীিো নদির্সর পূর্িে 

সকি ভারেিাসীর কার্ে এ মযি মসরা প্রানি, এক গর্িের  ুহূেে।    

5X2=10 

ক) স্বাধীিোর ৭৫ িের পূনেে উৎসির্ক কী ির্ি ? 

খ) ক িওর্য়িে মগ স ২০২২ মকাোয় অিুনষ্ঠে হয় ? 

গ) ক িওর্য়িে মগ স কার্দর নির্য় আর্য়ানজে হে ? 

ঘ) িান েংহযা  ক িওর্য়িে মগ স ২০২২-এ ভারে ক’নট মসািার পদক মপর্য়র্ে ? 

ঙ) ‘ ুক্ত’ িব্দনটর অেে কী ? 
 B. প্রদত্ত অনুচ্ছেদটি পচ্ছ়ে সংটিষ্ট প্রশ্নগুটির উত্তর লিচ্ছ ো: 

 যানসর্ডানিয়ার েৃেীয় আর্িকজান্ডার সাধারণে  হাি আর্িকজান্ডার িার্  পনরনচে, নেনি 
নের্িি প্রাচীি নিক রাজয  যানসডর্ির রাজা। ৩৫৬ নিষ্টপূিোর্ব্দ  াে নিি িের িয়র্স নেনি 
োাঁর নপো নিেীয় নফনির্পর স্থিানভনিক্ত হি এিং োাঁর িাসিকার্ির অনধকাংি স য় পনি  
এনিয়া ও উত্তর-পূিে আনিকা জুর্ড় দীঘে সা নরক অনভযাি পনরচািিায় অনেিানহে কর্রি। 
নেি িের িয়র্সর  র্ধয নেনি ন ির মের্ক উত্তর পনি  ভারে পযেন্ত প্রাচীি নির্ের িৃহত্ত  
সাম্রাজযগুনির  র্ধয অিযে  একনট সাম্রাজয প্রনেষ্ঠা কর্রি। োাঁর িড়া সিগুর্িা িড়াইর্য় 
নেনি অপরানজে নের্িি এিং মসকারর্ণ নেনি ইনেহার্সর অিযে  মসরা ও সফি মসিািায়ক 
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নহর্সর্ি পনরগনণে। মিার্িা িের িয়স পযেন্ত আর্িকজান্ডার অযানরস্টটর্ির নিকট নিক্ষািাভ 
কর্রি। ‘পৃনেিীর মিিপ্রার্ন্ত’্‌মপৌঁর্োর্িার স্পৃহায় নেনি ৩২৬ নিষ্টপূিোর্ব্দ ভারে অনভযাি শুরু 
কর্রি, নকন্তু োাঁর মসিািানহিীর দানির কারর্ণ নফর্র মযর্ে িাধয হি। ৩২৩ নিষ্টপূিোর্ব্দ 
িযানিিি িহর্র আর্িকজান্ডার্রর  ৃেুয হর্ি মসিাপনে ও উত্তরানধকারীর্দর  র্ধয মিি 
কর্য়কনট গৃহযুর্ে োাঁর অনধকৃে সাম্রাজয িহু খর্ে মভর্ঙ যায়। 

 ক) আর্িকজান্ডার মকাোকার রাজা নের্িি ?  

খ) আর্িকজান্ডারর্ক মসরা ও সফি মসিািায়ক মকি িিা হয় ? 

গ) আর্িকজান্ডার্রর নিক্ষা গুরুর িা  কী ? 

ঘ) আর্িকজান্ডার্রর ভারে অনভযাি সফি হয়নি মকি ? 

ঙ)্‌‘উত্তরানধকারী’্‌ির্ব্দর নিপরীে িব্দ মিখ । 

নিভাগ-খ (নিন েনে) 
2. প্রদত্ত নিিয় অিিম্বর্ি অিুর্েদ রচিা কর্রা (১৫০নট ির্ব্দর  র্ধয): পনরর্িি রক্ষায় গার্ের 

প্রর্য়াজিীয়ো 

5 

3. িব্দ দূির্ণর ক্ষনেকারক নদকগুনির কো জানির্য় িহর্র োকা িনু্ধর্ক একনট পে মির্খা।   5 

নিভাগ- গ (িযাকরণ) 
4. ক) (A মের্ক  H) পযেন্ত প্রশ্নগুনির সনিক উত্তরনট নিিোচি কর্রা এিং (I ও J)-এর দার্গর  

    প্রশ্নগুনির নির্দেিািুসার্র উত্তর দাও:  

1x10=10 

A) ক্‌ মের্ক ম্‌ পযেন্ত ২৫ নট িণের্ক িিা হয় 

    i) স্পিে িণে    ii) অন্তঃস্থ িণে   iii) উষ্মিণে   iv) কণ্ঠ্য িণে 

B) সুনিনিে ভনিিযর্ের জিয সঞ্চয় জরুনর।- এখার্ি সঞ্চয় পদনটর সনন্ধ নির্েদ করর্ি   

    হয় -  

   i) সন্ + চয়    ii) সঞ্ + চয়   iii) সঞ্চ + য়   iv) সম + চয় 

C) চিৎ + িনক্ত - সনন্ধিে করর্ি হয় - 

   i) চিচ্চনক্ত      ii) চিৎিনক্ত      iii) চিেনক্ত      iv) চিিনক্ত 

D) ত্‌ নকংিা দ্‌ - এর পর্র ল্‌ োকর্ি ত্‌ িা দ্‌ স্থার্ি - 

   i) ন্্‌ হয়       ii) দ্‌ হয়          iii) ল্‌ হয়        iv) ত্‌ হয় 

E) প্রদত্ত নিকল্পগুনির  র্ধয মকান্্‌নট নিপাের্ি নসে িযঞ্জিসনন্ধর উদাহরণ- 

   i) স্বেন্দ          ii) সংসৃ্কে      iii) উন্ননে        iv) িিস্পনে 
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F)  ন্তিয: িাংিা ভািার মিনিরভাগ িব্দ সংগৃহীে হর্য়র্ে সংসৃ্কে ভািা মের্ক। 

    যুনক্ত: এই িব্দগুনির সনন্ধ করার স য় সংসৃ্কে িযাকরর্ণর সনন্ধর নিয়  প্রর্যাজয     

          হয় িা। 

      i) মন্তব্য সটিক টকন্তু যুটি ভুি          ii) মন্তব্য ভুি টকন্তু যুটি সটিক 
      iii) মন্তব্য ও যুটি দুচ্ছিোই সটিক         iv) মন্তব্য ও যুটি দুচ্ছিোই ভুি 

G) মগা + পদ - সনন্ধিে করর্ি হয়-  

    i) মগাস্পদ        ii) মগাষ্পদ        iii) মগাপদ        iv) মগাশ্পদ 

H) কুজ্ঝনটকা - মকান্্‌ দুনট ধ্বনির ন িি হর্য়র্ে -  

    i) ত্‌ + জ        ii) ত্‌ + ঝ         iii) দ্‌ + জ       iv) জ্‌ + ঝ্‌ 

I) িূিযস্থাি পূরণ কর্রাঃ ‘ময়’্‌এব্ং _________ শব্দ পচ্ছর থোকচ্ছি ব্চ্ছগের তৃতীয় ব্র্ে     

   হয় নো, লকব্িমোত্র পঞ্চম ব্র্ে (ঙ , ঞ , ণ , ন , ম ) হয়। 

J) ব্োমটদচ্ছকর সোচ্ছথ ডোনটদক লমিোও: 
   ক) স্বর ব্চ্ছর্ের সচ্ছে ব্যঞ্জনব্চ্ছর্ের টমিচ্ছন-    i) গ , জ , ড , দ , ব  
    ) ব্চ্ছগের তৃতীয় ব্র্ে হি –                     ii) সটির লকোচ্ছনো টনয়ম প্রচ্ছযোজ্য িয়।  
   গ) টনপোতচ্ছন টসদ্ধ সটিগুটির লেচ্ছত্র -          iii) সৃটষ্ট হয় ব্যঞ্জনসটি। 

 খ) (A মের্ক G) পযেন্ত প্রশ্নগুনির সনিক উত্তরনট নিিোচি কর্রা এিং (H মের্ক J)-এর   

    দার্গর প্রশ্নগুনির নির্দেিািুসার্র উত্তর দাও:     

1x10=10 

A) িার্কযর স ানপকা নিয়ার্ক কী িা কার্ক নদর্য় প্রশ্ন করর্ি পাওয়া যায় -  

    i) কেৃে কারক      ii) ক ে কারক    iii) নিন ত্ত কারক      iv) করণ কারক 

B) নিক্ষকর্ক মদিো জ্ঞাি করর্ি। মরখানিে পদনটর কারক হি- 

    i) কেৃে কারক    ii) ক ে কারক    iii) অনধকরণ কারক    iv) করণ কারক 

C) কারর্কর অেে প্রকাি করার জিয নিভনক্ত রূর্প িযিহৃে পদগুনির্ক িিা হয়-  

    i) কারক পদ     ii) ধােু নিভনক্ত    iii) অকারক পদ     iv) অিুসগে   

D) সূযে উির্ি পদ্ম প্রসু্ফনটে হয়। - মরখানিে অংিনট কী ধরর্ির কেো ?  

   i) প্রর্যাজয কেো    ii) অিুক্ত কেো    iii) স ধােুজ কেো    iv) নিরর্পক্ষ কেো 

E) নিক েক নিয়ার প্রাণীিাচক নিভনক্তযুক্ত ক েনটর্ক িিা হয় -  

   i) উর্েিয ক ে      ii) মগৌণ ক ে      iii)  ুখয ক ে       iv) নির্ধয় ক ে 

F) নিকারী নিড়াির্ক মগাাঁর্ফ মচিা যায়। - মরখানিে অংিনটর কারক নিণেয় কর। 

   i) নিন ত্ত কারক     ii) অনধকরণ কারক   iii) ক ে কারক    iv) করণ কারক 
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G)  ন্তিয: সম্বন্ধ এিং সর্ম্বাধি পদর্ক অকারক পদ িিা হয়। 

    যুনক্ত: িাকযনস্থে নিয়াপর্দর সর্ে এই পদগুনির সরাসনর মকার্িা সম্পকে োর্ক িা। 

        i) মন্তব্য সটিক টকন্তু যুটি ভুি           ii) মন্তব্য ভুি টকন্তু যুটি সটিক 
       iii) মন্তব্য ও যুটি দুচ্ছিোই সটিক          iv) মন্তব্য ও যুটি দুচ্ছিোই ভুি 

H) িূিযস্থাি পূরণ কর্রা: অনুসচ্ছগের অপর নোম হি _____________।  

I) ব্োমটদচ্ছকর সোচ্ছথ ডোনটদক লমিোও:  

  ক) লেচ্ছিটি কিম টদচ্ছয় টি চ্ছে।                 i) অপোদোন কোরক 

   ) লস মোথো লথচ্ছক লব্োঝো নোটমচ্ছয় রো ি।               ii) করণ কারক  

  গ) পুরটপতো টব্দযোিচ্ছয়র জ্নয অথে সোহোযয করচ্ছিন।   iii) নিন ত্ত কারক  

J) নিক/ভুি নিণেয় কর্রা: ইটিয়গ্রোহয ব্স্তুর সোহোচ্ছযয টিয়ো সম্পোটদত হচ্ছি তোচ্ছক ব্িো হয়    

   যন্ত্রোত্মক করর্। 

টব্ভোগ-ঘ (সোটহতয কথো ও গল্প-মঞু্জষো) 
5. একনট িার্কয উত্তর দাও:  1x6=6 

ক) নি াইিািু মকাোয় নির্রাহী নিকার্র নগর্য়নের্িি ?   

খ) িরনিে রাজহাাঁসনট মকাোয় পর্ড়নেি ? 

গ) মদউনড়র সা র্ি চন্দ্রভাি কী করে ? 

ঘ)্‌‘ভকে প্রিীণ’্‌কোর অেে কী ? 

ঙ)্‌‘নকন্তু স্বাস্থয োাঁর োর্েরই  ে’্‌– োে মক ?  

চ) মদিো মকাোয় োর্কি ির্ি মো ার  র্ি হয় ?  

6. উনক্তনট কখি করা হর্য়র্ে ো মির্খা -     1x2=2 

ক)্‌‘মস কনহি-‘চনিিা ’  

খ)্‌‘মকাি োড়া মিই।’ 
7. িূিযস্থাি পূরণ কর্রা:  1x2=2 

ক) নি াইিািুর প্রনে োহার্দর এক প্রকার মচার্খর _____________ িক্ষয কনরয়া অপূিে  

    োহার্দর স্বরূপ নচনির্ে পানরি। (ইিারা / ইনেে / ভ্রুকুনট) 

 

খ) মদনখি, কু ার ির্হ -  ূনেে _____________। (করুণার/ দয়ার/ভার্িািাসার) 
8. নির্চর প্রশ্নগুনির যোযে উত্তর দাও:                                                 (2+3)x2=10 

ক) ‘ইহারা সকর্িই ভারেিিেীয় - ভারর্ের কিযার্ণর নিন ত্ত সুদূর ি োয় নির্রাহী নিকার্র      

    িানহর হইয়ার্েি।’- মকান্্‌ প্রসর্ে এ ি  ন্তিয করা হর্য়র্ে?্‌‘নির্রাহী নিকার’্‌কোনটর    

     ধযনদর্য় িক্তা কী মিাঝার্ে মচর্য়র্েি ?  

 

খ) ‘িুর্ড়া মঘাড়া পািনক-গানড়র্ে কর্র মটর্ি নির্য় চিি আ ায় দিটা-চারটার  
    আন্দা ার্ি।’- পোিটক গোট়ে কচ্ছর লক, লকোথোয় লযচ্ছতন ? টতটন ‘দশিো-চোরিোর  
    আন্দোমোন’্‌কথোটি লকন ব্চ্ছিচ্ছেন? 
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9. নির্চর প্রশ্নগুনির যোযে উত্তর দাও:                                                 (2+3)x2=10 

ক) ‘গৃহহীর্ি গৃহ নদর্ি আন  োনক ঘর্র!’ - িক্তা উনক্তনট কখি কর্রর্েি ? উনক্তনটর   

    োৎপযে মিখ। 

 

খ) ‘করুর্োয় উভচ্ছয়র টব্চ্ছমোটহত প্রোর্’- ‘উভচ্ছয়র’ ব্িচ্ছত কোচ্ছদর কথো ব্িো হচ্ছয়চ্ছে ?    
    উভচ্ছয়র প্রোর্ ‘টব্চ্ছমোটহত’্‌হি লকন? 

10. একনট িার্কয উত্তর দাও: 1x5=5 

ক) দদেয মকাোয় মিড়ার্ে নগর্য়নেি ?  

খ) দদর্েযর িাগার্ির  র্ধয প্রাণপর্ণ মক েুর্টােুনট করে ?  

গ) িুকু মকান্্‌ সু্কর্ির োে ?  

ঘ) ‘অস র্য় মিাক মিড়ার্ে আসা! ভার্িা িার্গ িা’- কারা মিড়ার্ে এর্সনেি ?  

ঙ) িুকু মকাোয় ির্স মখিা করনেি ? 

11. ‘দদচ্ছতযর ব্চ্ছ়েো মন  োরোপ হচ্ছয় লগচ্ছিো।’- ক ন দদচ্ছতযর মন  োরোপ হচ্ছয়টেি ?  2 

12. ‘মের্ির কো শুর্ি িুকুর  া’র  াোয় িজ্রাঘাে’- মের্ির কো শুর্ি িুকুর  া’র  াোয় 

িজ্রাঘাে হি মকি ? 

3 

 

*********************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-II/MID- TERM EXAMINATION 

SESSION: 2022 – 2023  
Class: VII                                                                           Maximum Marks: 80 
Subject: ENGLISH                                                                         Time: 3 Hrs. 
General Instructions: 

 The question paper consists of 5 pages.  

 There are 16 questions in the question paper. All questions are compulsory.  

 Question number 4 and 6 have internal choices. Attempt any one from each 
question. 

 Number your answers correctly. 

 Handwriting must be clear and legible. 

 
1. 

SECTION A: READING (20 MARKS) 
 Read the passage given below and answer the questions that follow: 

(1) The morning after my teacher came; she led me into her room and gave me a doll. 
The little blind children at the Perkins Institution had sent it and Laura Bridgman 
had dressed it, but I did not know this until afterwards. When I had played with it a 
little while, Miss Sullivan slowly spelled into my hand the word d-o-l-l. I was at 
once interested in this finger play and tried to imitate it. When I finally succeeded in 
making the letters correctly, I was flushed with childish pleasure and pride. 

(2) Running downstairs to my mother, I held up my hand and made the letters for the 
doll. I did not know that I was spelling a word or even that word existed; I was 
simply making my fingers go in monkey-like imitation. In the days that followed, I 
learned to spell in this uncomprehending way a great many words, among them 
were ‘cup’ and a few verbs like ‘sit’, ‘stand’ and ‘walk’, but my teacher had been 
with me several weeks before I understood that everything has a name. 

(3) One day while I was playing with my new doll, Miss Sullivan put my big rag doll 
into my lap, also spelled, d-o-l-l, and tried to make me understand that d-o-l-l 
applied to both. Earlier in the day, we had had a tussle over the words m-u-g and w-
a-t-e-r. 

(4) Miss Sullivan had tried to impress upon me that m-u-g is a mug and that w-a-t-e-r is 
water, but I persisted in confounding the two. In despair, she had dropped the 
subject for the time, only to renew it at the first opportunity. I became impatient at 
her repeated attempts and seizing the new doll, I dashed it upon the floor. 
 

a) Who had dressed the doll which was sent by the blind children of Perkins 
Institution?    

b) How did the narrator learn to spell the word ‘doll’? 
c) Name a few verbs which the narrator had learned to spell.                                                       
d) To whom did the narrator rush to show her victory after her teacher taught her to 

spell the word- DOLL?                                                                                                                                   
e) Find the word from the passage which means ‘fight’ (para 3)?                                                  
f) Find a synonym of the word ‘confusing’ (para 4) from the passage.                                             
g) When was the narrator flushed with childish pleasure and pride?   
h) What did the narrator do when she grew impatient?       

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
 

1 
1 
1 
 

1 
1 
1 
2 
2 
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2. Read the following poem carefully: 
Whose woods these are I think I know. 

His house is in the village though; 
He will not see me stopping here 

To watch his woods, fill up with snow. 
 

My little horse must think it queer 
To stop without a farmhouse near 

Between the woods and frozen lake 
The darkest evening of the year. 

 
He gives his harness bells a shake 
To ask if there is some mistake. 

The only other sound’s the sweep 
Of easy wind and downy flake. 

 
The woods are lovely, dark and deep, 

But I have promises to keep, 
And miles to go before I sleep, 
And miles to go before I sleep. 

 
    On the basis of your reading and understanding of the above poem complete the 

following sentences in your own words: 
   The poet has portrayed himself as a traveller. He has stopped amidst the woods, 

wondering whose woods it may be. It seemed to him that he knew that the owner of the 
woods lives in the village. The traveller stopped by the woods to (a) ___________. His 
horse thought it is strange to (b) ___________. It stood (c) __________. It shakes its 
harness bells because (d) _________. The traveller describes the woods as (e) 
__________.  

(1×5=5) 
 

3. Read the following passage and answer the questions that follow:  
        Our ancestors had great difficulty in getting books. Now, our difficulty is what to read. 
There are lots of books but our hours of reading are very few. Therefore, choice becomes 
essential. We should be very careful about what we read. There are books which poison our 
lives by suggesting evil. We should keep them at arm’s length. 
       We should read only those books which have stood the test of time. Such books are our 
great classics like ‘The Ramayana’ and ‘The Gita’. They contain the wisdom of our sages 
and saints. They have appealed mankind from generation to generation. Reading of such 
books has ennobling influence on our mind and character. It gives us spiritual enjoyment. 
These books give us instruction with entertainment. They represent our ancient culture. 
They set before us high ideals to follow. They are our best friends, best guides and the best 
treasure. 
On the basis of your reading and understanding of the above passage, answer the 
following:  

a) What is the basic difference between our ancestors and our present generation in 
respect of reading books?                                                                                   

b) How can some books poison our lives?                                                                                    
c) Find out a word from the passage which means "investing with dignity or 

honour".            

 
 
 
 
 
 
 

 
 
 

 
 

 
 

1 
 

1 
 

1 
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d) How can books be our “best guides”?                                                                                       
e) What does the phrase “at arm’s length” suggest?                                                                     

 
1 
1 

 
4. 

SECTION B: WRITING (16 MARKS) 
A) Write a profile of Nelson Mandela, the first Black President (in not more than 

80-100words). Clues have been given. 
Full name: Nelson Rolihlahla Mandela 
Born: 18 July 1918, Royal family of South Africa, got an English name - Nelson, 
from his teacher 
Education: Local Mission School, Methodist College at Beaufort University, Law 
from African National Congress 
Professional life: 

 1944, led peaceful protest and armed resistance 

 Protected rights of blacks 

 Elected first black President in 1994 

 Retired from politics in 1999 

 Continued working for world peace 
           Founder:  

 The Nelson Mandela Foundation, Aids awareness at 95 years age in 2013 
           Awards:                

 Bharat Ratna in 1990 

 Nobel Peace Prize in 1993 
OR 

B) Covid 19 Vaccination camp has been organised on 30th September at World Public 
School, Dehradun. Being the event in-charge, draft a notice by providing the 
necessary details given below to inform the students of classes IX to XII. 
Details of the event: 

 Date – 30th September, 2022 

 Venue – School Auditorium  

 Time – From 9.00 a.m. to 4.00 p.m. 

 Requisites – original AADHAAR card, COWIN Registration No.  

 
(4) 

5. People have adapted to wearing face masks as a ‘new normal’. But most of them do not 
know how to dispose them off properly. Spread awareness regarding the disposal of 
protective masks by writing a letter to an Editor of a popular newspaper. Imagine yourself 
to be Rohit/ Ronita Agarwal, a resident of 29/G, Barkhanagar, Delhi. 

(6) 

6. You witnessed a road accident near Nalbandh Chowaraha at Agra in which a bus and a 
scooter were involved. Write a report for The Statesman in 100 -120 words. Sign as 
Vivek/Poornima, Staff Correspondent.  
Points: Date – place – casualty; one died on the spot – several injured – rescue operation - 
admitted to nearest hospital – investigation by the local police 

OR 
You are Arushi from Gangtok, Sikkim. You saved so many people from imminent death 
during a massive earthquake. Write a letter to your cousin (who stays in another city) giving 
a detailed account of what happened and how you saved lives. You can refer to unit 
‘Attitude’ of your English Reader along with your own ideas to write the letter.      
                                                                                                          

(6) 
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7. 

SECTION C: GRAMMAR (20 MARKS) 
Fill in the blanks with appropriate modals following the hints given in 
the brackets: 

a) Ravi said to his friend, “________ I borrow your laptop for a day?” (Seeking 
permission) 

b) You __________ consult a doctor if your fever doesn’t subside. (Advice) 
c)  __________ you please help me to prepare the presentation? (Polite request) 

 
(1×3=3) 

8. Answer the following questions as per the instructions given in brackets: 
a) The boat approached near the harbour. (Identify the Phrase and mention its type) 
b) Ask the teacher if this is the correct answer. (Identify the Subordinate Clause 

and mention its type) 
c) The cat which has black stripes is my pet. (Identify the Subordinate Clause and 

mention its type) 

(1×3=3) 

9. Answer the following questions as per the instructions given in brackets: 
a) Rohit studied a lot. He could not pass the test. (Join the given set of sentences to 

form compound sentence by using suitable coordinating conjunction) 
b) Rina writes plays for the television. (Change into interrogative) 
c) Don't put your hand on the stove when it is hot. (State the type of sentence) 

(1×3=3) 

10. Pick out the verbs from the sentences and identify them as Transitive or Intransitive.  
a) She wrote an essay in her notebook. 
b) The train stopped abruptly. 
c) I love my country.           

(1×3=3) 

11. A) The following paragraph has not been edited. There is one error in each line. 
Identify the error and write its correction against the correct number. 
                                                                                         Error   Correction 

a) Plastic bags are harmful for a environment.          ______    ______                                   
b) An large number of plastic bags which                 ______    ______ 
c) ultimately land in an Atlantic Ocean become       ______     ______ 

harmful for sea life, causing death of aquatic    
d) animals and creating a environmental                  ______    ______ 

imbalance in the sea.   
 B) Look at the words and phrases given below. Rearrange them to form meaningful 
sentences.           

a) uppermost /soil/layer/is/Earth/the /of/the 
b) major/ Earth’s/it/component/is /of/the/ ecosystem 
c) it/plants/which/supports/food/provide/all living things/to/planet/on/this 
d) several years/to become/but/ fertile/takes/soil    

(1×4=4) 
 
 
 
 
 
 
 
 
 

(1×4=4) 
 

 
12. 

SECTION D: LITERATURE (24 MARKS) 
Read the given extract and choose the correct options: 

“I’d rather sleep in the ivy wall; 
No rain comes through, tho’ I hear it fall. 

The sun peeps gay at dawn of day, 
And I sing, and wing away, away!” 

a) Here ‘I’ refers to- 
      (i) the child           (ii) birdie           (iii) the poet            (iv) the narrator 
 

 
(1×4=4) 
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b) The phrase ‘ivy wall’ means- 
     (i) a wall made up of ivy                                     (ii) a heavy thick wall 
   (iii) a wall covered with evergreen ivy leaves      (iv) none of these 
c) The poetic devices in the third line of the given extract are: 
      (i)  Alliteration and Metaphor                 (ii)  Simile and Metaphor 
     (iii) Metaphor and Personification           (iv) Personification and Alliteration 
d) The above extract conveys that- 

(i) the bird loved a life of material luxuries. 
(ii) the bird loved to live in close affinity with nature. 
(iii) the bird loved freedom. 
(iv) both ii) and iii) 

13. “It wasn’t fun. It was sheer torture. However, she struggled on with the knots, all 
eleven of them.” 
a) The trick on Manju was played by: 
      (i) the narrator      (ii) Manju’s brother     (iii) Manju’s mother     (iv) Manju’s father 
b) It wasn’t fun opening the knots because: 
      (i)  Manju became tired                                (ii)  Manju had deformed fingers 
     (iii) Manju became impatient                        (iv)  Manju became angry 
c) Finally, after the struggle Manju was happy to get: 
      (i) water colour brushes                           (ii)  painting book 
    (iii) artist’s water colour                            (iv) newspaper cutting of Rich Belanger 
d) Amol played a crucial role in Manju’s life. He _______ 
    (i)  inspired her in his own way              (ii) teased her all the time 
   (iii) irritated her on her birthday              (iv) humiliated her because of her paintings. 

(1×4=4) 
 

14. Answer the following questions within 30-40 words: 
a) How did the soldier prove that ‘presence of mind’ is more valuable than wealth? 
b) Do you think that Swami was able to prove his courage? Give one reason for your 
answer. 
c) Briefly describe Tutu’s adventurous escape to the bazaar.  
d) In the poem “I Dream a World”, what are the things that the poet wants the world to be 
devoid of? 

(2×4=8) 

15. Amol was empathetic towards Manjula and was greatly responsible for her return to the 
world of painting. --- How far do you think the statement is justified? Give reasons. 

(4) 

16. The Burgomaster of “Stone Soup in Bohemia” was highly impressed by the stone soup. 
Imagine yourself to be the Burgomaster and write a diary entry (in about 120 words) 
expressing your initial reaction about the soldier and your thoughts about the final stone 
soup. 

(4) 
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D. A. V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST–2 / HALF YEARLY EXAMINATION  

SESSION: 2022-2023 
 

Class : VII          Maximum Marks: 80 

Subject : Hindi         Time: 3 Hours 
 सामान्य निरे्दश :- 

1. इस प्रश्न-पत्र में चार हैं खंड –‘क’,‘ख’,‘ग’,‘घ’।  
2. सभी खंड अननवार्य हैं।  
3. प्रश्नों के सभी उपभागों के उत् तर क्रमशः एक साथ लिखखए।  
4. उत् तर–पसु्ततका में उत् तर के साथ वही क्रम सखं्र्ा लिखखए जो प्रश्न–पत्र में दी गई है।  
5. इस प्रश्न-पत्र में कुि चार पषृ्ठ हैं और प्रश्नों की सखं्र्ा 18 हैं।  

 

 खडं-‘क’  
1. प्रस्तुत गदयांश को ध्यािपूर्वक पढ़कर पूछे गए प्रश्िों के उत् तर र्दीजिए-  
 एक अच्छा वक्ता अपार जनसमूह का मन मोह िेता है, लमत्रों के बीच सम्मान और प्रेम 

का कें द्र-बबदं ुबनता है। बोिने का वववेक, बोिन ेकी किा और वाक्-पटुता व्र्स्क्त की 
शोभा है, उसका आकर्यण है। जो िोग अपनी बात को राई का पहाड़ बनाकर प्रततुत 
करते हैं, वह एक ओर जहााँ सुनने वािों के धरै्य की परीक्षा लिर्ा करते हैं, वही अपना 
और दसूरे का समर् भी अकारण नष्ट करते हैं। ववर्र् से हटकर बोिने वािे और अपनी 
बात को अकारण खींच ेचिे जाने वािों से िोग ऊब जाते हैं। वाणी का अनुशासन, वाणी 
का संर्म और संतुिन तथा वाणी की लमठास ऐसी शस्क्त है, जो हर कठठन स्तथनत में 
हमारे अनुकूि ही रहती है, जो मरने के पश्चात ्भी िोगों की तमनृतर्ों में हमें अमर 
बनाए रखती है। हााँ, बहुत कम बोिना र्ा सदैव चपु िगाकर बैठे रहना भी बुरा है। र्ह 
हमारी प्रनतभा और तेज को कंुठठत कर देता है। अतः कम बोिो, साथयक और ठहतकर 
बोिोl र्ही वाणी का तप है। 

 

    (क) व्र्स्क्त की शोभा और आकर्यण ककसे बतार्ा गर्ा है? 2 
    (ख) कैसे व्र्स्क्तर्ों से िोग ऊब जाते हैं? 2 
    (ग) वाणी का तप ककसे कहा गर्ा है? 2 
    (घ) बहुत कम बोिना भी अच्छा क्र्ों नहीं है? 2 
    (ङ) इस अवतरण के लिए एक उपर्ुक्त शीर्यक दीस्जए। 1 
    (च) ‘राई का पहाड़ बनाना’ मुहावरे का अथय लिखखए। 1 
 खडं–‘ख’  
2. निम्िलिखखत शब्र्दों के सही संबंध र्ािे वर्कल्प छााँटकर लिखखए- 1X5=5 
 (क) ििधारा : ििधाराएाँ :: फुिझड़ी : ……..? 

   (i) फुल्झररर्ा   (ii) फुिझड़ड़र्ााँ   (iii) फुिझड़ीए   (iv)  फूिझड़ड़र्ााँ  
 

 (ख) र्स्र : अबंर :: अहह : …..? 
   (i) सााँप     (ii) दृग        (iii) िोचन       (iv) असुर 

 

 (ग) पाररर्ाररक : इक :: लमठास : ……..? 
    (i) इक      (ii) मीठा       (iii) स         (iv) आस  
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 (घ) पुरुषर्ाचक सर्विाम : हमिोग :: नििर्ाचक सर्विाम : …....? 
   (i) मैं       (ii) कुछ        (iii) र्ह        (iv) तवर्ं  

 

 (ङ) पीिे : फूि :: हरी : ....? 
   (i) घास    (ii) आदमी       (iii) पहाड़     (iv) कपड़ा 

 

3. निम्िलिखखत प्रश्िों को पढ़कर सही वर्कल्प र्ािे उत् तर छााँटकर लिखखए- 1X2=2 
 (क) ‘र्दााँत पीसिा’ मुहार्रे का अर्व है – 

   (i) हार जाना  (ii) मूखय होना  (iii) मसािा पीसना (iv) गुतसा करना  
 

 (ख) ‘िो मेहित करेगा,र्ह सफि होगा’- र्ाक्य में संबंधर्ाचक सर्विाम शब्र्द का    
     उर्दाहरण है- 
   (i) जो    (ii) वह    (iii) जो– वह    (iv) मेहनत- सफि 

 

4. निम्िलिखखत प्रश्िों को पढ़कर सही वर्कल्प र्ािे उत् तर छााँटकर लिखखए- 1X3=3 
 (क)  अलिकर्ि- ‘साकार’ शब्र्द का वर्िोम रूप ‘निराकार’ है।  

     तकव  - ‘वर्िोम शब्र्द’ उिटे अर्व रे्दते हैं।  
 

 (i) अलभकथन और तकय  दोनों सही हैं, परंतु तकय  अलभकथन की सही व्र्ाख्र्ा है।  
(ii) अलभकथन और तकय  दोनों सही हैं, परंतु तकय  अलभकथन की सही व्र्ाख्र्ा नहीं है।  
(iii) अलभकथन सही है, परंतु तकय  गित है।  
(iv) अलभकथन गित है, परंतु तकय  सही है।  

 

 (ख) अलिकर्ि- ‘यहााँ तो काँ टीिी तार िगी हुई हैl’ ‘काँ टीिी’ शब्र्द गुणर्ाचक वर्शषेण     
              का उर्दाहरण हैl 
    तकव  -  पर र्ाक्य में ‘काँ टीिी’ शब्र्द सार्विालमक वर्शषेण की िािकारी रे्द रहा है। 

 

 (i) अलभकथन और तकय  दोनों सही हैं, परंतु तकय  अलभकथन की सही व्र्ाख्र्ा है।  
(ii) अलभकथन सही है, परंतु तकय  गित है।  
(iii) अलभकथन गित है, परंतु तकय  सही है। 
(iv) अलभकथन और तकय  दोनों गित हैं। 

 

 (ग) अलिकर्ि- ‘िमि पर लिखता है’- र्ाक्य में ‘लिखता’ शब्र्द अकमवक क्रिया है। 
    तकव  – ‘लिखता’ शब्र्द अकमवक क्रिया िहीं हो सकता क्योंक्रक लिखता (क्रिया) शब्र्द    
          के सार् ‘क्या’ िगािे पर सटीक उत् तर की प्राजतत होती है। 

 

 (i) अलभकथन और तकय  दोनों सही हैं, परंतु तकय  अलभकथन की सही व्र्ाख्र्ा है।  
(ii) अलभकथन सही है, परंतु तकय  गित है।  
(iii) अलभकथन गित है, परंतु तकय  सही है।  
(iv) अलभकथन और तकय  दोनों गित हैं।  

 

5. निम्िलिखखत प्रश्िों के उत् तर निरे्दशािुसार र्दीजिए – 1X2=2 
 (क) िीच ेहर्दए गए ररक्त स्र्ािों की पूनत व सटीक शब्र्द दर्ारा कीजिए– 

……………… समर् पर काम करने वािा व्र्स्क्त ही जीवन में उन्ननत करता है।                    
                                             (ननर्त / ननर्नत) 

 

 (ख) कोष्ठक में हर्दए गए क्रिया के सही रूप दर्ारा र्ाक्य पूरा कीजिए- 
    नेहा डॉक्टर के पास……….. I                   (जा) 
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6. निम्िलिखखत प्रश्िों के उत् तर निरे्दशािुसार र्दीजिए- 1X2=2 
    (क) ‘ियारी’ शब्द का शुद्ध रूप लिखखए।  
    (ख) ‘िन्म’ शब्द में अनुतवार चचह न के न िगने का क्र्ा कारण है?  
7. िीच ेहर्दए गए क्रिया-वर्शेषण शब्र्दों का लमिाि क्रिया-वर्शषेण के उचचत िेर्दों के सार् 

कीजिए – 
1X3=3 

       क                                 ख  
 (क) धीरे-धीरे                 (i) पररमाणवाचक कक्रर्ा-ववशरे्ण  
 (ख) ऊपर                   (ii) रीनतवाचक कक्रर्ा-ववशरे्ण 
 (ग) कम                    (iii) तथानवाचक कक्रर्ा-ववशरे्ण 

 

8. िीच ेहर्दए गए कर्िों को पढ़कर उिके आगे सही () या गित () का निशाि िगाइए- 1X3=3 
    (क) ‘अमीर’ शब्द का भाववाचक रूप ‘अमीरी’ होता है।                (    )  
    (ख) वे शब्दांश जो ककसी शब्द के पूवय में िगकर उस शब्द के अथय में ववशरे्ता  

       िाते हैं, प्रत्यय कहिाते हैं।                                  (    ) 
 

    (ग) ‘जो संगीत का ज्ञाता हो’ वाक्र्ांश के लिए एक शब्द ‘संगीतप्रेमी’ है।  (    )                                    
 खडं–‘ग’ 

 (काव्र् खडं और गद्र् खंड)  
 

9. निम्िलिखखत प्रश्िों के उत् तर 20-25 शब्र्दों में र्दीजिए – 2X3=6 
    (क) अगहन नाच क्र्ों नचा देता है?  
    (ख) सावन मास के आते ही प्रकृनत में क्र्ा-क्र्ा पररवतयन आते हैं?  
    (ग) ‘समर्’ कववता के माध्र्म से कवव क्र्ा संदेश देना चाहता है?  

10. ‘समर् का पाबंद व्र्स्क्त’ जीवन में सदा सफि होता हैl कैसे? तपष्ट कीस्जए।  
(40-50 शब्दों में) 

4 

11. निम्िलिखखत गदयांश को ध्यािपूर्वक पढ़कर पूछे गए प्रश्िों के उत् तर र्दीजिए- 1X3=3 
 बच्चों की इस भीड़ में कुछ ऐसे बच्च ेभी थे जो गरीब थे, मैिे– कुचिेै कपड़ ेपहने थे 

और उनके हाथ में एक रुपर्ा तक न था। दकुानदार बीच-बीच में ऐसे बच्चों को भी 
फटकार कर भगा रहा था। िेककन वे तो ‘ववडंो शॉवपगं’ करने आए थे, सो हर दकुान पर 
खड़ ेहोकर एक स ेएक अच्छे पटाखों को देख रहे थे। 

 

    (क) दकुानदार बच्चों को बार-बार फटकारकर क्र्ों भगा रहा था?  
    (ख) ‘ववडंो शॉवपगं’ का मतिब क्र्ा है?  
    (ग) गद्र्ांश के आधार पर बताइए कक इस अशं में ककस त्र्ोहार की तैर्ारी चि  

       रही है? 
 

12. निम्िलिखखत प्रश्िों के उत् तर 20-25 शब्र्दों में र्दीजिए-            2X3=6 
    (क) राकेश के साथी अलभनर् के मामिे में कैसे थे?  
    (ख)  ववपस्त्त ही लमत्रता की सच्ची कसौटी होती है।’ इस कथन के प्रकाश में सच्ची   

        लमत्रता की कुछ ववशरे्ताएाँ बतिाइए। 
 

    (ग) ‘बातूनी’ पाठ के आधार पर सज्जन (पाठ - एक पात्र) की कुछ ववशरे्ताएाँ   
       बतिाइए।   
 

 



4 
 

13. निम्िलिखखत प्रश्िों के उत् तर 30-35 शब्र्दों में र्दीजिए – 3X2=6 
    (क) तवामीनाथन ने छठे प्रश्न के उत् तर के बारे में क्र्ा झूठ कहा और क्र्ों?  
    (ख) िेखक की एवरेतट र्ात्रा पढ़कर हमें क्र्ा प्रेरणा लमिती है?  

14. ‘िेखक के बुठढ़र्ा की सहार्ता न करने पर भी बुठढ़र्ा ने िेखक की सहार्ता की और 
जब िेखक ने कुछ रुपए देने की कोलशश की, उसने िेने से मना कर ठदर्ा।’ प्रततुत 
कथन के आधार पर बुठढ़र्ा के चररत्र की तीि ववशरे्ताएाँ लिखखए। आप बुठढ़र्ा के तथान 
पर होते तो िेखक के साथ कैसा व्र्वहार करते? 50-60 शब्र्दों में उत् तर लिखखए। 

5 

 खडं–‘घ’  
15. निम्िलिखखत वर्षयों  में से क्रकसी एक वर्षय पर 80 से 100 शब्र्दों में अिुच्छेर्द 

लिखखए- 
5 

    (क) नारी लशक्षा  
   (ख) वकृ्षारोपण  
   (ग) अच्छा तवात्र् : महावरदान  

 

16. अपने लमत्र को परीक्षा में असफि रहने पर सांत्वना पत्र लिखखएl 
                                अर्र्ा 
आपके मोहल्िे में आए-ठदन चोररर्ााँ हो रही हैं। उनकी रोकथाम के लिए थानाध्र्क्ष को 
पत्र लिखखए।  

5 

17. माँहगाई ववर्र् पर दो मठहिाओं के बीच हुई बातचीत को (80 से 100 शब्दों में) संवाद 
के रूप में लिखखएl 

5 

18. ‘रक्तदान’ के लिए प्रेररत करते हुए आकर्यक नारों सठहत एक ववज्ञापन तैर्ार कीस्जएl     5 
 

****************** 
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D. A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST 2 / HALF YEARLY EXAMINATION 

SESSION: 2022 – 2023 

Class: VII                                 Maximum Marks: 80 

Subject: Mathematics                                           Time:3 Hours 
General instructions: 

1. This question paper consists of 36 questions and 4 printed pages divided into 5 sections 

 A, B, C, D and E. 

2. All questions are compulsory. 

3. Section A comprises 16 questions of 1 mark each. Internal choice has been provided 

 in 5 questions. 

4. Section B comprises 6 questions of 2 marks each. Internal choice has been provided  

in 2 questions. 

5. Section C comprises 7 questions of 3 marks each. Internal choice has been provided 

 in 2 questions. 

6. Section D comprises 4 case study-based questions of 4 marks. It contains 5 sub-parts  

out of which any 4 to be attempted. 

7. Section E comprises 3 questions of 5 marks each. Internal choice has been provided in  
1 question. 

 Section: A  

1. 
Represent  

4

3
  on number line. 

1 

2. Write any two rational numbers equivalent to
4

5
. 

OR 

Express 
−21

56
 as a rational number with denominator 8. 

1 

3. Convert 
4

5
 in its decimal form. 1 

4. Write one letter of English alphabet having two lines of symmetry. 

OR 

How many lines of symmetry will an isosceles trapezium have? 

1 

5. Find the HCF of 20𝑥3𝑦7 and 15𝑥5𝑦5. 1 

6. What is the measure of each angle of an equilateral triangle? 

OR 

The circum-circle passes through ___________ of the triangle. 

1 

7. What percent of numbers from 1 to 20 are divisible by 5? 

OR 

Find the value of 40% of 1.5kg? 

1 

8. The centroid of a triangle divides each one of the medians in the ratio ______. 1 

9. Write a rational number which is neither negative nor positive. 1 

10. Find the perimeter of the rectangle whose sides are 2a and
2

b
. 

OR 

Write all the factors of 2xy. 

1 

11. Convert 5.03 in the form
𝑝

𝑞
. 1 

12. The point of concurrence of the altitudes of a triangle is called ___________. 1 

 

13. State whether the statements are true or false. 

Rational numbers 
2

3
 and 

−2

3
 are at equal distance from zero. 

1 

14. How many lines of symmetry will a regular octagon have? 1 

15. Find the value of 15.035 ÷ 0.5. 1 

16. Find a rational number between  
5

6
 and 

6

5
. 1 
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 Section: B  

17. Without actual division, determine whether 
63

450
 has terminating or non- terminating 

decimal representation . 

OR 

Express 6.225 as rational number in standard form. 

2 

18. At what rate percent will `1500 amount to ` 2400 in four years? 2 

19. What number should be added to 
−3

10
 so as to get 3? 

OR 

Divide the sum of 
21

5
and 

7

4
 by their difference. 

2 

20. Factorise: 

ap +aq – bp – bq. 

2 

21. ABC is an isosceles right triangle, right angled at C. Prove that  

𝐴𝐶2 = 
1

2
𝐴𝐵2. 

2 

22. Convert 
2

7
 into decimal form. 2 

 Section: C  

23. Arrange the following in ascending order 

5

2
,

30

19
,

15

8
,

10

7








 

3 

24. Simplify and express the result in its lowest form: 
0.4 ×0.04 ×0.005

0.1 ×100 ×0.0001
− 

1

2 
 +

1

5
 

3 

25. A ladder is placed in such a way that its foot is at a distance of 7m from a wall and 

its top reaches a window 24m above the ground. Determine the length of ladder. 

OR 

In the given figure, find x and y 

 

3 

26. Find three rational numbers between
 𝟏

𝟓
and

−𝟑

𝟓
. 3 

27. Simplify: 

(2𝑎2 + 5𝑏2)(a – b) + (𝑎2- 𝑏2)(3a + 4b) 

3 

28. Construct an equilateral triangle. Draw all its lines of symmetry. Also write 

number of lines of symmetry. 

3 

 

29. Family of 25 person, 72% read English newspaper, 16% read Hindi newspaper and 

rest does not read the newspaper. Find the number of person who read none of the 

newspaper. 

OR 

At what rate per cent per annum will a sum of money double itself in 8 years? 

 

3 
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 Section: D 

CASE STUDY- I 

 

30. Gayatri’s income is ` 240000 per year. She pays 15% of this as house rent and 

20% on her child’s education and 30% on food. She saves 15% of her income in a 

national bank at the rate of 8% per annum.  

 

Based on above information answer the following questions(any four) 

 [i] Money spent for child’s education is 

    (a) ` 24000            (b) ` 48000         (c) ` 36000     (d) ` 60000 

[ii] House rent per month is  

    (a) ` 2500             (b) ` 3600            (c) ` 2400       (d) ` 3000 

[iii] Money spent on food is  

    (a) ` 48000          (b) ` 60000           (c) ` 72000     (d) ` 84000 

[iv] Money she received from the bank as simple interest per year is 

   (a) ` 2880            (b) ` 2660              (c) ` 3600       (d) ` 2400 

[v] If she wants to buy a Smartphone of  ` 14400 with the interest money she is 

getting from the bank, how many years it will take 

  (a) 4 years           (b) 5years               (c) 6 years        (d) 7 years 

 

 

4 

 

31. 

CASE STUDY- II 

l, m, n, t are the lines of symmetry of line segments XQ, PR, XY and RY 

respectively in which XP = 1.5cm. 

 
Based on the above information answer the following questions (any four). 

i)The length of line segment PQ is 

a)  2.5 cm           b) 1.5 cm               c) 2.25 cm                   d) 4.5 cm 

ii) The difference between line segments PQ and RY is  

a)1.5 cm             b)2.5 cm                 c) 3 cm                        d) 4 cm 

iii)What is the total length of XY? 

a) 10 cm             b) 9 cm                  c) 4.5 cm                      d) 6.75 cm 

iv)How many lines of symmetry are possible for the letter S? 

a) 2                   b) 3                        c) 0                             d) 1 

v) The line segment PQ is equal to the line segment 

a) XP               b) RS                     c) QR                           d) options a) and c) both 

 

4 
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32. 

CASE STUDY- III 

A recipe for cake required 
1

4
 cup Chocó- powder,

 1

 2
 cup 

milk, 
3

4
 cup Maida and 

2

3
 cup dry fruits.  

Based on these information, answer the following   

questions (Any Four): 

(i)Which of the above ingredients used in the recipe has the highest quantity? 

(a)Chocó powder      (b) Milk             (c) Maida         (d) Dry fruits 

(ii) Which of the following statements is true? 

 (a)
1

4
>

3

4
                    (b) 

2

3
<

3

4
                        (c)

1

2
<

1

4
                    (d)

1

4
>

2

3
 

(iii) Which among the following is a rational number equivalent to
24

32
? 

(a)
1

2
                        (b)

1

4
                             (c)

2

3
                        (d)

3

4
 

(iv)  Which order is correct?  

(a)
3

4
>

2

3
>

1

4
>

1

2
      (b) 

1

2
>

1

4
>

2

3
>

3

4
                 (c)

3

4
>

2

3
>

1

2
>

1

4
             (d)

1

4
>

1

2
>

2

3
>

3

4
 

(v)Which of the above ingredients used in the recipe has the lowest quantity? 

(a) Chocó powder    (b) Milk    (c) Maida      (d) Dry fruits 
 

 

4 

 

33. 

CASE STUDY- IV 

Geeta is having a garden near her home. In the garden, there are different types of 

trees and flower plants. One day due to heavy rain and storm one of the tree got 

broken .The height of the unbroken part is 15m and the broken part of the tree has 

fallen at 20m away from the base of the tree. 

Based on the above information answer the following questions (Any four). 

i) What is the length of the broken part? 

a) 35m                          b) 30m              c) 20m                       d) 25m 

ii) What was the height of tree? 

a) 45m                         b) 40m               c) 35m                      d) 30m 

iii) What is the perimeter of the formed triangle? 

a)  60m                       b) 50m               c) 35m                       d) 45m 

iv) In a right angle triangle Hypotenuse is ________. 

a)  Opposite side of right angle            b) Adjacent  side of right angle   

c) Cannot be determine                        d) none of these. 

v) The longest side of a right angled triangle is called  

a) Perpendicular               b) base          c) perimeter               d) hypotenuse. 

 

4 

 Section: E  

34. Verify the property x(y + z) = xy + xz by taking x =
−3

7
 , y = 

2

5
 and z = 

−4

9
. Also 

write the name of this property. 

5 

35. Simplify and then verify the result for the given values. 

(a2 + ab + b2)(a – b) ; a = 4, b = 3  

OR 

Simplify: 4(x + y)(3x – y) + 6(x + y)(2y – 3x) 

5 

36. Harish purchased 50 dozen bananas for ` 135. Five dozen bananas could not be 

sold because they were rotten. At what price per dozen should Harish sell the 

remaining bananas so that he makes a profit of 20%? 

********** 

5 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION 

SESSION:2022-2023 
 Class: VII                                                                                              Maximum Marks: 80 

 Subject: Sanskrit                                                                                              Time: 3Hours  

 खण्ड: –  ‘क’ (अपठित-अवबोधनम)् (10)   

(1)  अधोलिखखत ंगद्यंश ंपठित्वय प्रश्नयनयम ्उत्तरयखि लिखत। 
भारतस्य उत्तरदिशायाां पर्वतराजः दिमालयः अस्स्त। सः सर्विा दिमेन आच्छादितः भर्तत। दिमालयः 
शत्रभु्यः अस्मान ्रक्षतत। सः भारतस्य मकुुटमणि: इर् शोभत।े गांगा दिमालयात ्तनस्सरतत। दिमालयस्य 
शशखराणि अपप अतत उन्नतातन सस्न्त। 
(I) प्रदत्तववकल्पेभ््ः उचितम ्उत्तरं चिनुत। 
(क) ‘सः सर्विा दिमेन आच्छादितः भर्तत’ - अस्स्मन ्र्ाक्ये ‘भर्तत’ इतत क्रियापिस्य कततवपिां 
क्रकम ्अस्स्त? 
(i) सर्विा           (ii) सः             (iii) दिमेन  
(ख) ‘सः भारतस्य मुकुटमणि: इर् शोभते’ - अस्स्मन ्र्ाक्ये ‘भारतस्य’ इतत पिे का पर्भस्क्त: 
अस्स्त? 
(i) षष्ठी           (ii) द्पर्तीया         (iii) तततीया 
(ग) ‘गांगा दिमालयात ्तनस्सरतत’ - अस्स्मन ्र्ाक्ये ‘गांगा’ इतत कततवपिस्य क्रियापिां क्रकम ्
अस्स्त? 
(i) गांगा           (ii) तनस्सरतत         (iii) दिमालयात ्
(II) एकपदेन उत्तरत।  
(क) दिमालयः कस्य मुकुटमणि: इर् शोभते? (ख) भारतस्य कस्याां दिशायाां दिमालयः अस्स्त? 
(III) अस्् अनुच्छेदस्् उचितं शीर्षकं लिखत। 
(IV) पूिषवयक््ेन उत्तरत। 
(क) दिमालयः केभ्यः अस्मान ्रक्षतत?          (ख) दिमालयस्य शशखराणि कीदृशातन सस्न्त? 

 

 

 

 

 

 

(1×3=3) 

 

 

 

 

 

 

 

 

 

 

 

 

 

(1×2=2)  

 

 

(1×1=1) 

 

(2×2=4) 

 खण्ड: – ‘ख’ (रिनयत्मककय्षम)्  (15)   

(2)  आधोलिखखतं प्रयिय् ंप्रतत अवकयशयर्षम ्आवेदनपत्रं पठित्वय मञ्जूर्य्य: सहय्त्य पूि ंकृत्वय 
आवेदनपत्रम ्उत्तरपुस्स्तकय्यम ्लिखत। 
सेर्ायाम,्  
(i) ______ प्राचायावः, 

डी.ए.र्ी पर्द्यालयः 
दिल्लीनगरम।् 

मिोियाः,   
सपर्नयां (ii) _____ यत ्गत ्रात्र:े अिां (iii) ______ ग्रस्तः अस्स्म। अस्मात ्कारिात ्अिां  
(iv) ______ आगन्तमु ्असमर्वः अस्स्म। अतः दिनद्र्यस्य (v) ____ ित्र्ा माम ्अनगुतह्िन्त।ु 
धन्यर्ािाः 

     भर्ताम ्शशष्यः  
               रमेशः  

              कक्षा – सप्तमी 

(1×5=5) 

 

मञ्जूर्य - पर्द्यालयम,् ज्र्रेि, मान्या:, तनर्ेियाशम, अर्काशम ्
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(3)  चित्र ंदृष्ट्वय मञ्जूर्यतः शब्दयन ्चित्वय ररक्तस्र्यनयतन पूरत्त्वय पञ्िवयक््यतन लिखत। 

 
(i) अस्स्मन ्चचत्र े______ अस्स्त। 
(ii) अत्र _____ िीडस्न्त। 
(iii) एका _____ पठतत। 
(iv) आकाश े_____ उड्डयस्न्त। 
(v) एकः _____ अपप अस्स्त।  

अर्वय 
मञ्जूर्यतः उचितं शब्दं चित्वय ‘संस्कृतभयर्य्यः महत्त्वम’् इतत ववर््े अनुच्छेदं पूर्त। 
सांस्कत तभाषा (i)_____ प्राचीनतमा भाषा अस्स्त। (ii)_____ एर् भारतस्य प्रािभूता भाषा  
अस्स्त। प्राचीने समये सर्े जनाः सांस्कत तभाषायाम ्एर् (iii)______ स्म। भारतस्य प्राचीना: 
(iv)______ सांस्कत तभाषायाम ्एर् सस्न्त। सर्ावसाां भाषािाम ्इयां भाषा (v)_____ अस्स्त।   
 

(1×5=5) 

(4)  अधोलिखखतयतन वयक््यतन संस्कृतभयर््य अनुवयदं कृत्वय लिखत। 
(क) बालक फूलों को िेखता िै।  (Boy looks at flowers.) 
(ख) र्े िोनों जल पीते िैं।      (They both drink water.) 
(ग) िम लोग पर्द्यालय जाते िैं। (We go to school.) 
(घ) बाशलका ने रामायि पढी।  (The girl read Ramayana.) 
(ङ) बालक पर्द्यालय जाएगा।  (The boy will go to school.) 

(1×5=5) 

 खण्ड: – ‘ग’ (अनुप्र्ुक्तव््यकरिम)्  (25)   

(5)  अधोलिखखतवयक््ेर्ु रेखयङ्ककतपदयनयं सस्धधपदं सस्धधच्छेदपदं वय चित्वय लिखत। 
(क) मम नाम िेर्ेन्रः अस्स्त।    
    (i)  िेर् + इन्रः      (ii)  िेर् + एन्रः     (iii)   िेर्े + इन्रः  
(ख) सः पुस्तक + आलयां गच्छतत। 
    (i)  पुस्तकलयां    (ii) पुस्तकालयां         (iii)  पुस्तकालयो   
(ग) सः परम + ईश्र्रः अस्स्त। 
    (i)  परमेश्र्रः     (ii)  परमेश्र्रौ           (iii)  परमेश्र्राः   

(1×3=3) 

(6)  प्रदते्तभ््ः ववकल्पेभ््ः समुचितं शब्दरूपम ्चित्वय वयक््ेर्ु ररक्तस्र्यनयतन परू्त। 
(क) आश्रमे _____ र्सस्न्त। 
    (i)  मुतनः        (ii) मुनौ                (iii) मुनयः   
(ख) ______ गतिां गत्र्ा फलातन खादिष्यतत। 
    (i)  बालक:       (ii) बालकौ              (iii) बालका:  

(1×3=3) 

मञ्जूर्य 
बालकाः, मयूरः, खगाः, उद्यानम,् बाशलका 

मञ्जूर्य - जननी,   पर्श्र्स्य,    र्िस्न्त,    सांस्कत तभाषा,   ग्रन्र्ाः 
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(ग) ______गतिां गच्छतत। 
   (i)  लता        (ii) लते                  (iii)  लताः  

(7)  प्रदते्तभ््ः ववकल्पेभ््ः ररक्तस्र्यनयनयं कृते उचित-धयतुरूपयखि चित्वय लिखत। 
(क) अद्य अिां पाठां ______। 
    (i) पदठष्यतत     (ii) पदठष्यशस             (iii) पदठष्याशम 
(ख) ह्यः त्र्म ्कुत्र _____? 
    (i) आसीत ्      (ii) आस्ताम ्             (iii) आसी: 
(ग) त्र्ां पर्द्यालयां _____। 
    (i) गच्छ        (ii) गच्छतम ्             (iii) गच्छत   

(1×3=3) 

(8)  रेखयङ्ककतपदेर्ु उपसग ंसं्ोज्् ववभज्् वय शुदधम ्उत्तरं ववकल्पेभ््ः चित्वय लिखत। 
(क) रामः पाठां पर् + स्मरतत। 

(i) पर्स्मततत         (ii) पर्स्मरतत          (iii) र्स्मरतत  
(ख) आकाश ेखगाः उत्पतस्न्त। 

(i) उत ्+ पतस्न्त    (ii) उ + तपस्न्त        (iii) उत्प  + तस्न्त  
(ग) छात्रः पर्द्यालयम ्आगच्छतत। 

(i) आ + गच्छतत    (ii) आग + छतत        (iii) अ + गच्छतत 
(घ) गांगा दिमालयात ्तनस ्+ सरतत। 

(i) तनस्सरतत        (ii) तनसरतत            (iii) तनरसतत  

(1×4=4) 

(9)  अधोलिखखतवयक््ेर्ु समुचितम ्अव्््पदं चित्वय लिखत।   
(क) बालक: ___________पाठां पठतत। 

(i) पुन: पुन:        (ii) किा               (iii) श्र्:  
(ख) ___________ मम परीक्षा भपर्ष्यतत। 

(i) ह्य:            (ii) कुत्र                (iii) श्र्:   
(ग) रामिे सि सीता ___________ र्नां गच्छतत।  

(i) यत्र            (ii) यदि                (iii) अपप  
(घ) र्तक्षस्य ___________ जना: ततष्ठस्न्त। 

(i) अध:           (ii) तिा                (iii) अद्य  

(1×4=4) 

(10)  प्रकृतत-प्रत्््ौ सं्ोज्् ववभज्् वय शुदधम ् उत्तरं चित्वय ररक्तस्र्यनयतन पूर्त।  
(क) माधर्: पर्द्यालयां ___________ (गम ् + क्त्र्ा) पठतत। 

(i) गत्र्ा           (ii) गशमत्र्ा            (iii) गस्च्छत्र्ा 
(ख) कत षका: काय ं___________ (कत  + क्त्र्ा) गतिां गशमष्यस्न्त। 

(i) कुर्वता          (ii) कत त्र्ा              (iii) िीत्र्ा  
(ग) नर: शभक्षुकेभ्य: भोजनां ___________ (प्रिाय) प्रसीितत। 

(i) पर् + िा + ल्यप ् (ii) प्र + धा + ल्यप ्     (iii) प्र + िा+ल्यप ्  
(घ) बाल: ___________ (सम ् + पठ  + ल्यप ्) शलखतत।   

(i) सम्पठय        (ii) सम्पठ              (iii) समाप्य 

(1×4=4) 
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(11)  प्रदत्तववकल्पेभ््ः ररक्तस्र्यनयनयं कृते उचित–ववभस्क्त्ुक्तपदयतन चित्वय लिखत। 
(क) राम: _____ जलम ्आनयतत। 

(i) सरोर्रः          (ii) सरोर्रात ्         (iii) सरोर्राः  
(ख) _____ स्जज्ञासु: आसीत।् 

(i) बालौ            (ii) बालः             (iii) बालाः  
(ग) जनाः _____ भ्रमस्न्त। 

(i) उद्याने          (ii) उद्यानम ्         (iii) उद्यानात ्
(घ) _____ पर्द्या पर्र्ािाय भर्तत। 

(i) खलाय          (ii) खलस्य            (iii) खलेन 

(1×4=4) 

 

 खण्डः – ‘घ’ (पठित – अवबोधनम)्  (30)   

(12)  अधोलिखखतं गद्यंशं पठित्वय प्रश्नयनयम ्उत्तरयखि लिखत।  
र्तक्षाः अस्माकां  जीर्नस्य आधाराः सस्न्त। एते भूमेः उद्भर्स्न्त। एतेषाां मूलातन पतचर्वयाां िरूां िरूां 
ततातन भर्स्न्त। मूलानाम ् उपररष्टात ् र्तक्षस्य प्रकाण्डः भर्तत। प्रकाण्डात ्शाखाः उद्भर्स्न्त। 
शाखाभ्यः प्रशाखाः सम्भर्स्न्त। एतासु प्रशाखासु एर् पत्राणि पुष्पाणि फलातन च भर्स्न्त। 
(I) प्रदत्तववकल्पेभ््ः उचितम ्उत्तरं चिनुत। 
(क) ‘र्तक्षाः अस्माकां  जीर्नस्य आधाराः सस्न्त’ - अस्स्मन ्र्ाक्ये ‘सस्न्त’ इतत क्रियापिस्य  
    कततवपिां क्रकम ्अस्स्त? 
   (i) अस्माकम ्          (ii) र्तक्षाः             (iii) जीर्नस्य 
(ख) ‘मूलानाम ्उपररष्टात ्र्तक्षस्य प्रकाण्डः भर्तत’ - अस्स्मन ्र्ाक्ये ‘मूलानाम’् इतत पिस्य का  
     पर्भस्क्त: अस्स्त?  
   (i) प्रर्मा             (ii) द्पर्तीया           (iii) षष्ठी  
(II) एकपदेन उत्तरत। 
   (क) मूलातन कस्याां िरूां िरूां ततातन भर्स्न्त? 
   (ख) शाखाः कस्मात ्उद्भर्स्न्त? 
(III) पूिषवयक््ेन उत्तरत। 
   (क) प्रशाखाः कुतः सम्भर्स्न्त? 
   (ख) प्रशाखासु कातन भर्स्न्त? 

 

 

 

 

 

 

(1×2=2) 

 

 

 

 

 

 

 

 

 

 

(½×2=1) 

 

 

 

(1×2=2) 

 

(13)  अधोलिखखतं श्िोकम ्आधतृ्् प्रश्नयनयम ्उत्तरयखि लिखत। 
ववद्य वववयदय् धनं मदय् शस्क्तः परेर्यं पररपीडनय्। 
खिस्् सयधोववषपरीतमेतत ्ज्ञयनय् दयनय् ि रक्षिय्।। 

(I) प्रदत्तववकल्पेभ््ः उचितम ्उत्तरं चिनुत। 
(क) श्लोके ‘पीडनाय’ इतत पिस्य पर्लोमपिां क्रकम ्अस्स्त? 
(i) िानाय         (ii) मिाय         (iii) रक्षिाय 
(ख) ‘पर्द्या पर्र्ािाय धनां मिाय’ - अस्स्मन ्पद्याांश े‘पर्र्ािाय’ पिे का पर्भस्क्त: अस्स्त? 
(i) प्रर्मा         (ii) चतुर्ी         (iii) द्पर्तीया  
(II) एकपदेन उत्तरत। 
(क) साधोः शस्क्त: क्रकमर् ंभर्तत?      (ख) खलस्य पर्द्या क्रकमर् ंभर्तत? 

 

 

 

 

 

(1×2=2) 

 

 

 

 

 

 

(½×2=1) 
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(III) पिूषवयक््ेन उत्तरत। 
(क) खलस्य धनां क्रकमर् ंभर्तत? 
(ख) कस्य पर्द्या ज्ञानाय भर्तत? 

 

(1×2=2) 

(14)  अधोलिखखतं नय््यंशम ्आधतृ्् प्रश्नयनयम ्उत्तरयखि लिखत। 
अध्यापपका – पप्रया: छात्राः! चचन्तयन्तु कर्यन्तु च र्यां भोजनां क्रकमर् ंकुमवः? भोजनेन क्रकां   
           भर्तत? सजुाते! त्र्ां र्ि। 
सुजाता – भोजनेन शस्क्तः प्राप्यते। भोजनेन एर् शरीरां सम्यक् काय ंकरोतत। 
अध्यापपका – शोभनम,् मानर्! अधनुा त्र्ां र्ि – भोजनेन शस्क्तः कर्ां प्राप्यते? 
मानर्ः – शरीरस्य कोपषकासु या काचचत ्अपप िबुवलता भर्तत, भोजनेन एर् पररपूयवते। 
अध्यापपका – शोभनम ्उक्तम।् क्रकां  येन-केन अपप भोजनेन शरीरां शस्क्तपिू ंभर्तत? 
अनुजः –  नदि आचाये! पौस्ष्टक-भोजनेन। 
(I) प्रदत्तववकल्पेभ््ः उचितम ्उत्तरं चिनुत। 
(क) ‘भोजनेन एर् शरीरां सम्यक् काय ंकरोतत’ - अस्स्मन ्र्ाक्ये क्रियापिां क्रकम ्अस्स्त? 
   (i) भोजनेन            (ii) शरीरम ्          (iii) करोतत 
(ख) ‘क्रकां  येन-केन अपप भोजनेन शरीरां शस्क्तपूि ंभर्तत?’ - अत्र अवययपिां क्रकम ्अस्स्त? 
   (ii) येन               (ii) केन             (iii) अपप  
(II) एकपदेन उत्तरत। 
(क) “भोजनेन क्रकां  भर्तत?” - इतत का पतच्छतत? 
(ख) भोजनां पर्ना शरीरस्य कोपषकासु का भर्तत? 
(III) पूिषवयक््ेन उत्तरत। 
(क) भोजनेन कासाम ्िबुवलता पररपूयवते? 
(ख) केन भोजनेन शरीरां शस्क्तपूि ंभर्तत? 

 

 

 

 

 

 

 

 

 

 

 

 

(1×2=2) 

 

 

 

 

 

 

(½×2=1) 

 

 

 

 

(1×2=2) 

(15)  श्िोकं पठित्वय उचितपद ः अधव्ं पूर्त।     
“अ्ं तनजः परो वेतत गिनय िघुितेसयम।् 
उदयरिररतयनयं तु वसुध व कुटुम्बकम।्।” 

अधव्: - अयां (i)………………… पर: र्ा इतत (ii)………………… लघुचतेसाम।् (iii)………………… त ुर्सुधा   
(iv)………………… कुटम्बकम।्  

(½×4=2) 

(16)  श्िोकं पठित्वय उचितपद ः भयवयर् ंपूर्त।    
“महयजनस्् संसगषः कस्् नोधनततकयरकः। 
पदमपत्रस्स्र्तं वयरर धते्त मुक्तयफिचि्म।्।” 

भयवयर्षः - सज्जनानाां (i)………………… सर्ेषाां जनानाम ्उन्नततां (ii)………………… यर्ा (iii)………………… 
स्स्र्तां र्ारर मौस्क्तकस्य रूपां धारयतत तर्ा एर् सज्जनपुरुषािाां शमत्रतया (iv)………………… अपप 
सज्जनाः भर्स्न्त।  

           
 

(½×4=2) 

मञ्जूर्य -  कमलपत्र,े   िषु्टजनाः,   शमत्रता,   करोतत 
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(17)  वयक््यतन कर्यक्रमयनुसयरेि पुन: लिखत।   
(i) स: अपश्यत ्  मागे कूपस्य उपरर प्रततदिनां घटस्र्ापनेन गतव: तनशमवत:।  
(ii) स: यत ् पठतत तत ् पर्स्मरतत स्म। 
(iii) एर्मेर् पुन: पुन: पठनेन तस्य मतत: तीव्रा भर्तत। 
(iv) बङ्गप्रिेश ेएक: पठने अकुशल: छात्र: आसीत ्। 

(½×4=2) 

(18)  अधोलिखखतवयक््ेर्ु रेखयङ्ककतपदयनयं प्रसङ्गयनुकूिम ्उचितम ्अर् ंलिखत। 
(i) र्तक्षाः भुक्त्र्ा पीत्र्ा च जीर्स्न्त। 
(ii) कमलपत्र ेस्स्र्तां जलां मौस्क्तकस्य रूपां धारयतत। 
(iii) उिारचररतानाां तु र्सुधा एर् कुटुम्बकम ्भर्तत। 
(iv) पर्द्या पर्र्ािाय, धनां मिाय, शस्क्तः परेषाां पररपीडनाय। 

(1×4=4) 

(19)  स्र्िूपदम ्आधतृ्् प्रदत्तववकल्पेभ््ः उचितं प्रश्नवयिकपदं चिनुत। 
(क) महयजनस्् सांसगवः उन्नततकारकः भर्तत। 

(i) कस्य             (ii) केन               (iii) क्रकम ् 
(ख) व््वसयत्नयं कत ते क्रकमपप स्र्ानां िरूां न भर्तत। 

(i) क्रकम ्             (ii) केषाां              (iii) कस्य  
(ग) छयत्रयः मनोरञ्जनाय उद्यानम ्आगच्छन।् 
    (i) के                  (ii) कौ               (iii) काः  
(घ) भोजनेन शरीरां सम्यक् काय ंकरोतत। 

(i) केन               (ii) कः               (iii) कस्य  
(ङ) र्तक्षािाां मूलातन पचृर्व््यं भर्स्न्त। 

(i) कस्याां              (ii) के               (iii) काां  

(1×5=5) 

 

************* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION 

SESSION:2022-2023 

   Class: VII                                                                                         Maximum Marks:80 

   Subject: Science                                                                                          Time: 3Hours  

General Instructions: 

1. This question paper consists of 4 pages. All questions are compulsory. 

2. There is no overall choice however internal choices have been provided in three questions of 3 

marks category and three questions of 5 marks category.  

3. Question 1 to question 10 are very short answer type/MCQ. 

4. Questions 11and 12 are Assertion –Reason type questions whereas questions 13 and 14 are 

paragraph based questions.  

5.  Question 15 to question 24 are short answer type and carry 3 marks each. 

6. Question 25 to question 30 are long answer type questions and carry 5 marks each. 

 

1.  Which liquid metal is used in thermometer as the indicator? (1) 

2.  Which of the following inhibits the seepage of rainwater into ground? 

a. a) A pukka floor       b) Playground         c) Grass lawn                     d) Forest land. 
(1) 

3.  Which tree is called 'The Golden Shower Tree'? (1) 

4. The type of mirror used by dentists to get a magnified image of the teeth 

a) concave               b) convex                c) both a and b                    d) none of these 
(1) 

5. The chemical symbol of silver is 

a) Au                       b) Ag                       c) Pb                                   d) Ca 
(1) 

6. b. The best top soil for growing plant is 

c. a) sandy soil           b) clayey soil            c) loamy soil                      d) All of these. 
(1) 

7. Sequence of organisms that represent the series of ‘who eats whom’ is called 

a) food series        b) food chain              c) food game                      d) food hub 
(1) 

8. Which of the following is a saprotroph? 

a) Cuscuta             b) Euglena                  c) Mushroom                      d) Algae 
(1) 

9. Which one of the following graph shows that your cycle is at rest? 

 

 

 

 

 

(1) 

10. During winter we stand near the fire place to keep ourselves warm. By which process 

the heat keeps us warm? 

a) Conduction         b) Convection              c) Radiation                     d) All of these 

(1) 

11. Directions: In the following question a statement of assertion (A) is followed by a 

statement of reason(R). Mark the correct choice as: 

a) Both A and R are true and R is the correct explanation of A.   

b) Both A and R are true but R is not the correct explanation of A.   

c) A is true but R is false.               

d) A is false but R is true. 

Assertion (A): Rusting of iron is a chemical change. 

Reason (R): As iron comes in contact with moisture and air it forms a new substance 

called rust. 

(1) 
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12. Directions: In the following question a statement of assertion (A) is followed by a 

statement of reason(R). Mark the correct choice as: 

a) Both A and R are true and R is the correct explanation of A.   

b) Both A and R are true but R is not the correct explanation of A.   

c) A is true but R is false.               

d) A is false but R is true. 

Assertion (A): Animals are called heterotrophs. 

Reason (R): Animals cannot prepare their own food and depend on others for food. 

(1) 

13. Read the given passage and choose the correct option in the following questions from 

(i) to (iv) 

The people living in coastal areas experience an interesting phenomenon. 

Coastal areas have moderate temperature because the land absorbs and radiates heat 

much faster than the sea. So during the day cool air from sea rushes towards the land 

and at night cool air from the land rushes towards the sea.  

i)  In a sea breeze, the air is warmer above the _____. 

a) land                       b) ocean                       c) sky                              d) beach 

ii) Land and sea breezes are examples of - 

a) Conduction           b) Convection              c) Radiation                    d) none of these 

iii) Land and water absorb and release the sun’s heat in different ways. One result of     

    this is a land breeze. Which statement is true about land breezes? 

a) They originate in the day and blow towards the water. 

b) They originate in the day and blow towards the land. 

c) They originate at night and blow towards the land. 

d)They originate at night and blow towards the water 

iv) Why does warm air rise up? 

a) Warm air is denser than cold air.  

b) Warm air has more pressure than cold air. 

c) Warm air is less dense than cold air. 

d) Warm air has a higher dew point than cold air. 

   (4) 

14. Read the given passage and choose the correct option in the following questions from 

(i) to (iv) 

India is an agricultural country and agriculture is impossible without water. The water 

for agriculture is mainly utilised from ground water, rain water and canal water. As 

there is no rainfall in many places, agriculture cannot entirely depend on rain water. 

Also, canal water is available in a few places only. Therefore, ground water is the 

main source of water for agricultural activities and this causes depletion of water table.  

i) Which one of the following is not responsible for water shortage? 

 a) Rapid growth of industries                         b) Increasing population 

 c) Heavy rainfall                                             d) Mismanagement of water resources 

ii) Choose the correct option. The total water 

(a) in the lakes and rivers of the world remains constant. 

(b) under the ground remains constant. 

(c) in the seas and oceans of the world remains constant. 

(d) of the world remains constant. 

(4) 

 iii) “Every Drop Counts” is a slogan related to 

 a) counting of drops of any liquid                  b) counting of water drops 

 c) importance of water                                   d) importance of counting 

 

  iv) Water is found in 

 a) solid form            b) liquid form        c) gaseous form                     d) all of these 
 

15. Give reasons for the following- 

a) The bottom of cooking utensil is often kept black.  

b) White clothes are comfortable during summer. 

c) There is a vacuum between the two walls of a thermos flask. 

(3) 



3 
 

16. a) Why are concave and convex mirrors called spherical mirrors? 

b) Can you get a real image of the object at any distance from the convex mirror? 

c) Mention the type of image formed on a cinema screen. 

OR 

a) Write down the two laws of reflection. 

b) State one difference between real and virtual image. 

(3) 

17. a) Classify the following as motion along a straight line, circular or oscillatory motion: 

i) Motion of your hands while running. 

ii) Motion of a horse pulling a cart on a straight road. 

iii) Motion of a child in a merry-go-round. 

iv) Motion of a child on a see-saw. 

b) A simple pendulum takes 10 seconds to complete 5 oscillations. Find the time  

     period of this pendulum. 

(3) 

18. Rupam’s father encourage him to store rain water for future use.  

a) What is this process called? Why is it important now-a-days? 

b) State any two ways how can you play an active role in waste water management. 

(3) 

19. a) Identify a and b from the given diagram. 

 

b) Earthworms are known as nature’s ploughmen. 

   State two reasons to support the statement. 

(3) 

20. a) Balance the following equations. 

i) KNO3 KNO2 + O2                               ii) Ca + H2O Ca(OH)2 + H2 

b) Write the symbol of the following elements: - i) Iron      ii) Sodium 

OR 

a) Define chemical formula. 

b) A chemical reaction is represented as follows- 

 H2O (l)                                                         H2 (g) + O2 (g) 

State two information you get from it. 

(3) 

21. a) Some carbohydrates in plants are converted into proteins. Besides carbon, hydrogen 

and oxygen, proteins also contain nitrogen.  How do plants get nitrogen to synthesize 

proteins? (Write any 2 points) 

b) Mention the function of vessels in plant. 

(3) 

22. What is cud? Why we cannot digest green leaves like herbivores? Why is roughage 

important for us? 
(3) 

23. a) Identify the parts A and B labelled in the given flower.     

b) Describe any two types of asexual reproduction with example.  

OR 

 How does the process of fertilization take place in flowers? 

 

 

 

(3) 

24. Y and Z are two types of organism which are found in the forests. Y eats up dead 

animals while Z breaks down the body of the dead animals into simpler substances. 

a) What is the general name of organism Z?  

b) Write one example of Z type organism. 

c) Which layer of forest supports organism Z? 

(3) 

25. a) List the names of three types of secretion obtained from small intestine along with 

their function. 

b) What is the significance of villi in the small intestine of human being?  

OR 

Explain the process of obtaining nutrition in Amoeba. 

(5) 

electric current              

a 

b 
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26. a) Plot a distance-time graph of the tip of the second hand of a clock by selecting 4 

points on X-axis and Y-axis, respectively. The circumference of the circle traced by 

the second hand is 64 cm.  

    Time (s) X 15 30 45 60 

Distance (cm) Y 16 32 48 64 

b) The odometer of a car reads 24830 km at 1:25 PM and 24865 km at 2:05 PM. 

Calculate the speed of the car in km/h from 1:25 PM to 2:05 PM. 

OR 

a) Palak and Buddho have to cover different distances to reach their school but they  

    take the same time to reach the school. What can you say about their speed? 

b)  A spaceship travels 36000 km in one hour. Express its speed in m/s.  

 c) State one difference between uniform and non-uniform motion. Give one example     

    of each.                                                                                                                                                  

(5) 

27. a) Draw a ray diagram to show the formation of an image by a concave mirror when 

the object is beyond the centre of curvature of the mirror. State the nature of image 

formed. 

b) Complete the following diagrams. 

 

 

(5) 

28. a) Which type of soil will you use to make terracotta toys and why? 

b) Draw the soil profile and label its parts. 

OR 

a) What do you mean by physical weathering? Write down the name of any four  

     agents of physical weathering. 

b) What is soil erosion? Mention two ways of avoiding it. 

(5) 

29. a) a) Write down the formulae of the following compounds by criss-cross method. 

i) Sodium carbonate                                                     ii) Silver chloride. 

b)  Identify the type of reactions given below: - 

   i) Fe + CuSO4                  FeSO4 + Cu 

   ii) Na2O + H2O                 NaOH 

c) Write the chemical equation for the following reactions: - 

i) On strong heating Lime stone decomposes into quick lime and carbon dioxide. 

ii) Magnesium hydroxide on reaction with sulphuric acid yields magnesium sulphate 

and water. 

(5) 

30. a) Draw a neat and labelled diagram of life cycle of a flowering plant. 

b) Mention the benefits of seed dispersal. (Write any two points) 
 (5) 

 

**************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/ HALF YEARLY EXAMINATION 

SESSION: 2022-23 
Class: VII                                    Maximum Marks: 80 

Subject: Social Science                                          Time: 3 Hours 

General Guidelines: 
1. There are 36 questions in all. All questions are compulsory. 

2. Marks are indicated against each question. 

3. Write the question numbers as given in the question paper while answering a question in your answer 

book. 

4. Question 1-20 are very short answer type questions of 1 mark each. 

5. Questions from 21-25 are 3 marks questions. Answer to these questions should not exceed 80 words 

each. 

6. Question no. 26-28 are source-based type questions of 3 marks each. 

7. Questions 29-34 are 5 marks questions. Answer to these questions should not exceed 120 words each. 

8. Question no. 35 and 36 are map questions of Geography and History. Maps should be attached with the 

answer sheet. 

1. Mention two importance of lithosphere. 1 

2. In the question below, there are two statements marked as Assertion (A) and Reason (R). 

Read the statement carefully and choose the correct option. 

Assertion (A): Hydrosphere is the most dynamic in nature among all  

                         spheres. 

Reason (R): Changes in atmosphere occur not only from one season  

                     to another but also within a short period of time say,  

                     within one hour. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

1 

3. Match Column I with Column II and choose the correct answer from the options below. 

Column I Column II 

a. Can pass through only solid medium. i. Inner Core 

b. Consists of Nickel and Iron. ii. Lava 

c. The hardest substance iii. Secondary wave. 

d. Molten rock material present outside    the earth iv. Diamond 

Options are – 

A) a-ii, b-iii, c-iv, d-i                                B) a-iii, b-i, c-iv, d-ii 

C) a-i, b-ii, c-iv, d-iii                                 D) a-iv, b-iii, c-ii, d-i 

1 

4. Rewrite the following sentence correctly. 

A mineral is a naturally occurring solid substance made up of a mixture of rocks. 
1 

5. State whether the following statement is True or False. If the statement is false, 

rewrite the given statement correctly. 

In India, the period from fifth to fifteenth century CE marks the beginning and the end of 

the medieval period. 

1 

6. State the role of manuscript as a source of information of medieval history. 1 

7. “Feudal system led to the decline of many empires in North India between 750CE to 

1000CE.” Support the statement with proper fact. 
1 

8. Rewrite the following statement correctly: 

The struggle between the Chalukyas and Chauhans of Northern India with the 

Rashtrakutas, is known as the Tripartite Struggle. 

1 
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9. 

 

 

 

 

 

 

 

 

 

Match Column I with Column II and choose the correct answer from the options 

below. 

a. Meaning of Mandalams i. Rajendra Chola 

b. Land revenue in South India  during 8th century ii.Tanjore 

c. Gangaikondai iii.1/10th of the total produce 

d. Rajrajeshwara temple iv. Province 

Options are – 

I. a-i, b-ii, c-iii, d-iv                                  II. a-iv, b-iii, c-i, d-ii 

III. a-ii, b-i, c-iii, d-iv                               IV. a-i, b-iii, c-ii, d-iv 

1 

10. In the question below, there are two statements marked as Assertion (A) and Reason 

(R). 

Read the statement carefully and choose the correct option. 

Assertion (A): Mahmud Ghazni invaded India 17 times in 27 years. 

Reason (R): This period saw the development of a close contact of India with Central and 

West Asia which attracted many Muslims to settle in India. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

1 

11. i. Identify the monument. 

ii. Name the ruler who completed the construction of the monument. 

 

1 

12. Highlight any one administrative reform introduced by Iltutmish. 1 

13. Consider which of the following statement is incorrect about the administration of 

Muhammad-bin-Tughlaq. 

A. He issued token currency of copper instead of silver coins. 

B. He welcomed the suggestions of the Ulemas in the matters of the  state. 

C. He transferred his capital from Delhi to Devgiri, to avoid the fury of attacks of Mangols. 

D. He imposed land tax in the Doab area at 50 per cent of the  produce. 

1 

14. Recall any two provisions of the Right to Equality. 1 

15. The Constitution of India came into effect on _______________ 

A. 26th November, 1949           B. 26th January, 1950 

C. 23rd January, 1950                D. 25th January, 1949 

1 

16. State the reason behind the introduction of Reservation system in the Indian Constitution. 1 

17. In the question below, there are two statements marked as Assertion (A) and Reason (R). 

Read the statement carefully and choose the correct option. 

Assertion (A): The minimum strength of members in Legislative  

                        Assembly is 60 but Mizoram has 40 only. 

Reason (R): The number of members in an Assembly depends on the  

                     population of the state. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

1 

18. State whether the following statement is True or False. If the statement is false, 

rewrite the given statement correctly. 

Governor enjoys the real executive powers in a state. 

1 

19. State how the print media helps in building public opinion. 1 

20. ‘The Right to Information Act has promoted transparency and accountability’ – Comment. 1 
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21. ‘We must understand that soil erosion is a serious problem affecting land all over the 

world’. – In this context write any three measures of soil conservation. 
3 

22. a) Identify the layer of atmosphere which acts as a shield over the earth’s surface. Explain 

the importance of this layer.  

b) ‘Pilots prefer to fly through stratosphere’ – Why? 

2+1 

23. Discuss the role of temples in the field of education in south India during medieval period. 3 

24. “The programmes of the government need support of the people to become successful”. 

Explain the statement by giving any three relevant points. 
3 

25. Delhi being a Union Territory enjoys a special status in the Indian Union – Analyze. 3 

26. Read the passage given below and answer the following questions. 

A magnitude of 7.8 earthquake struck Nepal on April 25, 2015, toppling multi-storied 

buildings in Kathmandu, the capital, and creating landslides and avalanches in the 

Himalayan Mountains. Nearly 9,000 people died and more than 22,000 suffered injuries. 

It was the deadliest earthquake in the seismically active region in 81 years. 

The quake was followed by hundreds of aftershocks, and only 17 days later, there was 

another major quake, a magnitude 7.3 temblor. Thirty-nine of the nation’s 75 districts with 

a population of 8 million people — about a third of the national population — were 

affected. Hundreds of thousands of people lost everything and faced extreme poverty. 

More than 600,000 homes were destroyed and more than 288,000 were damaged in the 14 

worst-hit districts. The quakes’ strongest impact was in remote rural areas, making the 

response extremely challenging. 

Humanitarian organizations responded quickly to the disaster with search and rescue 

teams and immediate aid deliveries. Work is still underway to rebuild schools, health 

clinics, houses, livelihoods, and to help families and communities gain more resilience to 

environmental shocks. 

1. Identify the date of the deadliest earthquake in Nepal. 

A. April 25, 2015                      B. April 15, 2015                     C. April 25, 2014 

2. Mention the number of districts that got affected by the earthquake in Nepal. 

A. Thirty-one                           B. Thirty-five                            C. Thirty-nine 

3. The second major quake took place after _______ days from the first one. 

A. 19                                         B. 17                                         C. 20 

1+1+1 

27. Read  the passage given below and answer the following questions. 

During the thirty-three years of his reign, Mahmud Ghazni carried out seventeen raids on 

India. He was interested in wealth rather than setting up an empire in the Indian sub-

continent. 

After 150 years of Mahmud’s invasions, Muhammad Ghori attacked India. At the time of 

his invasion five Rajput Kingdoms were in power. They were the Rathors of Kanauj, 

Solankis of Gujarat, Chandelas of Bundelkhand, Paramaras of Malwa and Chauhans of 

Delhi and Ajmer. Muhammad first captured Multan in CE 1175 and then moved to 

Gujarat. He defeated the Solankis there. He also captured Punjab, Peshawar, and Sialkot. 

Hence Muhammad Ghori was interested in setting up an empire in the Indian sub-

continent. 

1.  The difference between the aims of Mahmud Ghazni and Muhammad Ghori was – 

A.  Mahmud Ghazni was interested in accumulation of wealth but Muhammad Ghori    

      was interested in setting up an empire in the Indian Subcontinent. 

B.  Muhammad Ghori was interested in accumulation of wealth but Mahmud Ghazni  

      was interested in setting up an empire in the Indian Subcontinent. 

C.  Mahmud Ghazni and Muhammad Ghori both had the same objective towards the    

     Indian Subcontinent. 

2. Muhammad Ghori captured Multan in _______. 

A. CE 1176                           B. CE 1175                                    C. CE 1174 

3. After how many years of Mahmud’s invasions, Muhammad Ghori attacked India?  

A. 130 years                          B. 180 years                                   C. 150 years 

1+1+1 
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28. Read  the passage given below and answer the following questions. 

Mass media has an imperative role in today’s world, and it can provide a unified platform 

for all communications, comprehensive education guidelines and maintaining social 

connections. It can enable equal access to health care, end discrimination and social 

stigmatization. The role of media and public health communications must be understood 

and explored further as they have provided an essential tool for combating COVID-19 and 

future outbreaks. 

The reality is that media is far from independent. This is mainly because of two reasons. 

The first is the control that the government has on the media. When the government 

prevents either a news item, or scenes from a movie, or the lyrics of a song from being 

shared with the larger public, this is referred to as censorship. There have been periods in 

Indian history when the government censored the media. The worst of these was the 

Emergency between 1975-1977. 

1. During which period the Indian media was censored by the government?  

A. 1975-1977                          B. 1976-1977                      C. 1975-1976 

2. Censorship means – 

A. When the government prevents the lyrics of a song from being shared with the larger     

     public. 

B. When the government prevents a news item from being shared with the larger public. 

C. When the government prevents either a news item, or scenes from a movie, or the  

     lyrics of a song from being shared with the larger public. 

3. Media can ensure – 

A. Equal access to health care. 

B. End discrimination and social stigmatization. 

C. Both A and B. 

1+1+1 

29. State the relation between atmospheric temperatures and atmospheric pressure. Illustrate 

the mechanism of rainfall with the help of a suitable diagram. 
1+4 

30. Identify the cause of Tsunami and suggest some measures to help the people affected by 

such devastation. 
1+4 

31. Make a comparative study between the North Indian and South Indian kingdoms based on 

religion, education, art and architecture. Highlight any two achievements of Rajaraja the 

great. 

3+2 

32. ‘Ala-ud-din is famous for his economic reforms’ – Illustrate the market reformation policy 

introduced by Ala-ud-din Khalji. 
5 

33. i) Describe the condition when the President’s rule is imposed in a state.  

ii) Explain the ‘Powers of Governor’ in three points. 
5 

34. ‘Media is like a watchdog in a democracy that keeps the government active, and the 

public involved’. Illustrate by giving five reasons. 
5 

35. On the outline map of world identify the following – 

A. World famous fishing ground. 

B. A cold current flowing through the western coast of     

     Peru. 

Locate and label the following in the given map – 

C. Kuroshio Current 

D. Benguela Current. 

1×4 

36. On the outline map of India locate and label the following – 

A. Place which was considered as the symbol of power in North India during medieval    

     period. 

B. New city founded by Sikandar Lodi. 

1×2 
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